ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 07 - SCIENCE
MOCK TEST JANUARY- 2021

Time Allowed: 30 minutes

1.

Maximum Marks: 40

Insects have network of air tube for exchange of gases called

a) Trachea

c) Diaphragm

After heavy exercise, we get muscle cramps due to the accumulation of which substance?

a) Malaic acid
¢) Lactic acid
During respiration glucose is
a) Hydrolysed
¢) Dehydrated
The expired air differ from inspired air in
a) Having more oxygen and less carbon
dioxide
¢) Having more oxygen and water

vapour

Choose the incorrect pairing.
a) Earthworm - skin

¢) Cockroach - gills

b) Alveoli

d) Stomata

b) Lipoic acid

d) Fumaric acid

b) Reduced
d) Oxidised

b) Having only carbon dioxide gas

d) Having more carbon dioxide and

less oxygen

b) Insects — spiracles

d) Human - lungs

In anaerobic respiration which chemical substance is produced?

a) Lactic acid
c) Alcohol

Respiratory surface should be

a) Thick, impermeable and richly

supplied with blood

¢) Thin walled, moist and devoid of
blood vessels

Yeast are used in:

a) Cloth industry

c¢) Food industry

b) Formic acid

d) Citric acid

b) Thin, permeable and richly supplied

with blood

d) Thin walled, impermeable and moist

b) Metal industry

d) Wine and beer industry

During inhalation, ribs moves up and diaphragm moves
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a) Both upward and downward b) Upward

c) Laterally d) Downward

During exhalation, the ribs

a) Moves down b) Moves up

¢) Move outward d) Remain same

Plants breathe through their stomata located in their

a) Leaves b) Flowers

¢) Roots d) Stem

Respiratory organs and process of breathing is not same as human beings in

a) Cat b) Horse
¢) Dog d) Cockroach
Root of plants take air from air space present between
a) Cambium and cork cambium b) Soil particles
c¢) Gas particles d) Water molecules
Where urea is synthesised in our body?
a) Liver b) Lung
c) Heart d) Kidney
The process that regulate the body’s salt and water concentration is called
a) Egestion b) Osmoregulation
c) Sweating d) Ingestion
In fishes, the excretory substance is:
a) Oxygen b) Uric acid
¢) Urea d) Ammonia
During expiration diaphragm becomes
a) Dome-shaped b) Normal
c) Flattened d) Oblique

Micturition is

a) Passing of urine b) Removal of faeces

¢) Removal of urea from blood d) Removal of uric acid
Blood is slightly

a) Acidic b) Highly acidic

c) Neutral d) Alkaline

The most toxic nitrogenous wastes produced inside our body is
a) Uric acid b) Lactic acid

c) Urea d) Ammonia
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Urine consists of:

a) 95% water, 5% urea
c) 97.5% water, 2.5% urea

The function of the Blood is to transport

a) Digested food from small intestine to
the large intestine

c) digested food from small intestine to
the heart

Each human kidney contain about
a) One million

¢) Ten millions

b) 87.5% water, 3.5% urea

d) 95% water, 2.5% urea

b) The digested food from the small
intestine to the other parts of the
body

d) Digested food from the parts of the
body to the large intestine

nephron.
b) Five millions

d) Two millions

Study of blood vascular system including arteries and vein is called

a) Cell biology
¢) Angiology

b) Anatomy
d) Morphology

Which one of the following transport oxygen to different parts of the body?

a) All of them.
c) WBC

Malpiighian tubules is excretory organ in
a) Earthworm

c) Ascaris

b) RBC

d) Platelets

b) Dog
d) Cockroach

Male gametes in pollen grain reach to female gamete by

a) Funicular
¢) Ovule tube

Seed dispersal help in

a) Avoiding competition between
seedlings for sunlight and water

c) Selection of proper habitat
Pollen grain is
a) Spore mother cell

c¢) Partially developed male

gametophyte

b) Pollen tube

d) Ovary tube

b) Making seed more vigorous

d) Selecting suitable variety

b) Female gametophyte

d) Male sperm cell

New plants developed by asexual reproduction is identical to each other because they are

a) Produced from same fruit

c¢) Produced from single parents

b) Produced from same seed

d) Produced without cell division
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Clone are

a) Asexually produced non-identical b) Sexually produced identical
organisms organism

¢) Sexually produced non-identical d) Asexually produced identical
organisms organisms

Fragrant flowers with well developed nectarines are an adaptation for

a) Water pollination b) Insect pollination
¢) Wind pollination d) Bat pollination
Asexually reproduced organism inheriting all the characters of the parent is
a) Clone b) Offspring
c) Variety d) Hybrid
Which one is a dicotyledonous plant?
a) Gram b) Sugar cane
¢) Wheat d) Banana
An alga grows and breaks into two pieces, this mode of reproduction is called
a) Regeneration b) Grafting

¢) Budding d) Fragmentation

Transfer of pollen grain form anther of one flower to stigma of another flower is called cross

pollination. It produces (check level may be class 12th level question)
a) Better progeny b) Male progeny
¢) Weaker progeny d) Similar progeny
After fertilization, zygote develops into an
a) Embryo b) Carpel
¢) Fruit d) Petal
Fruit is a mature ovary, where as seed is fertilized
a) Petals b) Anther
c) Carpel d) Ovule
Bryophyllum can reproduce by its
a) Flower b) Stem
¢) Roots d) Leaves
Fleshy and juicy fruits are found in
a) Walnuts and almond b) Orange and almond

c) Mango and orange d) Mango and almond
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Solution
Class 07 - Science
MOCK TEST JANUARY- 2021

(a) Trachea
Explanation: Cockroach and other insects breathe through spiracles and tracheae. There is a network of
hollow tubes running through the body of an insect. These hollow tubes are called trachea.

(c) Lactic acid

Explanation: After a strenuous exercise muscles experience lack of oxygen. In the absence or insufficiency
of oxygen, they respire anaerobically thereby producing lactic acid. The accumulation of lactic acid causes
cramps in muscles.

(d) Oxidised

Explanation: Respiration is an oxidation reaction. Aerobic respiration breaks down glucose. During
aerobic respiration, oxygen gets reduced by donating an electron to hydrogen forming water. In this
process glucose gets oxidised to produce carbon dioxide, water and energy.

(d) Having more carbon dioxide and less oxygen

Explanation: The air that we inspire is a mixture of gases. The most important of these are nitrogen,
oxygen, carbon dioxide and water vapour. The air that we expire is not the same. In exhaled air, carbon
dioxide percentage is ten times higher than atmospheric CO, and oxygen being 16% instead of 21% which

we find in the atmosphere.

(c¢) Cockroach - gills

Explanation: The respiratory organ of cockroach is trachea and the respiratory organ of fish is gills.
Earthworm breathe through skin. Human breathe by using lungs and insects use spiracles for respiration.
So Cockroach -gills is incorrect pair.

(c) Alcohol

Explanation: Anaerobic respiration is a type of respiration that does not use oxygen. Alcoholic
fermentation is used in brewing industry for the production of various types of beers, whisky and other
wines.

(b) Thin, permeable and richly supplied with blood

Explanation: For effective respiration, the skin of animals is thin, moist, highly permeable and rich of
supplied with blood capillaries that are present immediately below the cuticle. The air sac walls are very
thin so that gases can quickly diffuse through them. The air sacs are moist with mucus so that gases can
dissolve before diffusing. The surface area for gases to diffuse through in human lungs is roughly the
same as a tennis court. The air sacs have a large capillary network so that large volumes of gases can be
exchanged.

(d) Wine and beer industry
Explanation: Yeasts are single-celled organisms. They respire anaerobically and during this process yield
alcohol. They are, therefore, used to make wine and beer.

(d) Downward
Explanation: The process of taking in of air rich in oxygen into the body is called ‘inhalation’. During
inhalation, ribs move up and outwards and diaphragm moves downward.

(a) Moves down

Explanation: During inhalation the lungs inflate. Therefore to creates space the ribs moves upward and
outward whereas the diaphragm moves downwards.

During exhalation the lungs deflate. Therefore the ribs moves to their original position by moving
downward and inward whereas the diaphragm moves upwards.

(a) Leaves
Explanation: Leaves of plants have tiny pores called stomata, which is used for the exchange of gases. The
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oxygen, taken in through stomata is used by the cells in the leaves to break down glucose into carbon
dioxide and water.

(d) Cockroach

Explanation: Respiration in cockroach and other insects is not same as the respiratory system in humans.
Animals like birds, cows, elephants, frogs, lions, lizards, snakes, including humans, have lungs as their
primary respiratory organ. In these animals, lungs perform the function of exchanging air with the aid of
nostrils, nasal cavity, and the windpipe. However, insects and worms do not have lungs to perform their
respiratory function.

(b) Soil particles

Explanation: The oxygen present in between the soil particles diffuse into the root hairs. From root hairs,
oxygen is supplied to all the parts of roots for respiration. During respiration, oxygen is converted into
carbon dioxide gas which is diffused out of the roots by the same root hairs.

(a) Liver
Explanation: Urea is the end product of a series of biochemical reactions, and the urea production occurs
at liver, then is transported to kidney, at last, excreted as urine.

(b) Osmoregulation
Explanation: Osmoregulation is the process of maintaining an internal balance of salt and water.

(d) Ammonia
Explanation: Aquatic animals such as fishes excrete nitrogenous waste as ammonia which directly gets
dissolved into the water.

(a) Dome-shaped

Explanation: The floor of the chest cavity is diaphragm, which is a muscular sheet. The shape of the
diaphragm is more domelike when its muscles are relaxed. On the other hand when the muscles of the
diaphragm contract its shape becomes less domelike.

(a) Passing of urine
Explanation: Urination, also called Micturition, the process of excreting urine from the urinary bladder.

(d) Alkaline

Explanation: A pH of 7.0, in the middle of this scale, is neutral. Blood is normally slightly basic, alkaline,
with a pH range of 7.35 to 7.45. To function properly, the body maintains the pH of blood close to 7.40. An
important property of blood is its degree of acidity and alkalinity, and this is referred to as acid-base
balance.

(d) Ammonia

Explanation: The nitrogen compounds through which excess nitrogen is eliminated from organisms are
called nitrogenous wastes or nitrogen wastes. They are ammonia, urea, uric acid, and creatinine. All of
these substances are produced from protein metabolism. Urea, Uric acid and Lactic acid is a less toxic
compound than ammonia, two nitrogen atoms are eliminated through it and less water is needed for its
excretion.

(d) 95% water, 2.5% urea

Explanation: The kindeys, ureters, bladder and urethra form the excretory system. An adult human being
normally passes about 1- 1.8 L of urine in 24 hours. The urine consists of 95% water,2.5% urea and 2.5%
other waste products.

(b) The digested food from the small intestine to the other parts of the body
Explanation: The digested food from the large intestine to the other parts of the body

(a) One million

Explanation: Nephron, functional unit of the kidney, the structure that actually produces urine in the
process of removing waste and excess substances from the blood. There are about 1,000,000 nephrons in
each human kidney.

(c) Angiology
Explanation: Angiology is the medical specialty which studies the vessels of circulatory system and of the
lymphatic system, i.e., arteries, veins and lymphatic vessels, and its diseases.
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(b) RBC

Explanation: Red Blood Cells or Red Blood Corpuscles (RBC) are in the shape of discs. They contain a
pigment; called haemoglobin. Haemobglobin binds with oxygen and thus is mainly responsible for
transportation of oxygen in the body.

(d) Cockroach

Explanation: The excretory organ of cockroach is the malpighian tubules. It is found at the junction of the
midgut and hind gut and are about 150 in number. They are fine, yellow coloured and branched threads
present in bundles. They lie freely in the haemolymph.

(b) Pollen tube

Explanation: A pollen tube is part of the male gametophyte of seed plants. It acts as a conduit to transport
the male gamete cells from the pollen grain, either from the stigma (in flowering plants) to the ovules.

A pollen grain on the stigma grows a tiny tube, all the way down the style to the ovary. This pollen tube
carries a male gamete to meet a female gamete in an ovule.

(a) Avoiding competition between seedlings for sunlight and water
Explanation: Seed dispersal prevents competition between the plant and its own seedlings for sunlight,
water and minerals. Seed dispersal also enables the plants to invade new habitats for wider distribution.

(c) Partially developed male gametophyte
Explanation: Pollen grains are produced inside anther. Pollen grains are the male gametes.

(c) Produced from single parents
Explanation: Asexual reproduction: offspring come from a single parent. Each offspring receives a copy
of the parent’s genetic material. Offspring are genetically identical to their parent and each other.

(d) Asexually produced identical organisms
Explanation: Asexual reproduction generates new plants that are clones of the mother plant. Clones are a
group of cells or a new organism genetically identical to each other.

(b) Insect pollination
Explanation: Insect pollinated flowers are usually large, brightly coloured, scented and with nectar.

(a) Clone
Explanation: Cloning is the process of producing similar populations of genetically identical individuals
that occurs in nature when organisms such as bacteria, insects or plants reproduce asexually.

(a) Gram
Explanation: Dicotyledonae consists of plants having seeds with two cotyledons and the plants are called
dicotyledonous plant. Gram, mango, neem, sunflower all are dicotyledonous plant.

(d) Fragmentation
Explanation: In filamentous algae, an accidental breaking of the filament into many fragments, each
fragment may give rise to a new filament of the algae by cell division e.g. Spirogyra.

(a) Better progeny
Explanation: Transfer of pollen grain from anther of one flower to stigma of another flower is called cross
pollination. It produces better progeny.

(a) Embryo
Explanation: The cell which results after fusion of the gametes is called a zygote. The process of fusion of
male and female gametes (to form a zygote) is called fertilization. The zygote develops into an embryo.

(d) Ovule

Explanation: After fertilisation, the ovary grows into a fruit and other parts of the flower fall off. The fruit
is the ripened ovary. The seeds develop from the ovules. The seed contains an embryo enclosed in a
protective seed coat.

(d) Leaves
Explanation: The leaf of bryophyllum produces new plants through its notches.
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40. (c) Mango and orange
Explanation: Fleshy fruits are made of living cells and are often juicy and. So Fleshy and juicy fruits are
found in mango and orange.
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ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 07 - ENGLISH
ENGLISH MCQ JANUARY-2021

Time Allowed: 30 minutes Maximum Marks: 40

1. The stranger had earned five dollars in :

a) ten years b) ten months
c) ten weeks d) ten days
2. When the stranger liberated the doves, the owner of the pet-shop felt :
a) insulted b) nothing
¢) honoured d) proud
3. What did Nishad offer Mr. Nath?
a) A lollipop b) A pastry
¢) A cold drink d) A bar of chocolate
4.  Who was called Seven in the plot, Expert Detectives?
a) Rakesh b) Mr. Nath
¢) Nishad d) Maya
5. Who was Nishad?
a) Maya's brother b) Maya's father
¢) Maya's cousin d) Maya's friend
6. 'Who was the narrator of the plot, Expert Detectives?
a) Rakesh b) Maya
¢) Nishad d) Mr. Nath

7.  Choose the correct option :

a) Mr.Purcell owned a transport b) Mr.Purcell sold doves with loss
company
¢) Mr.Purcell sold everything d) Mr.Purcell read everything in the
newspaper

8. Why did Maya and Nishad get an unexpected holiday?

a) Due to heavy rains b) Due to landslide
c) Due to the death of their principal d) Due to some repair work in their
school

9. How old was Maya in the plot, Expert detectives?

a) Fifteen b) Ten
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c) Twelve d) Thirteen

What did Mr. Nath take in his meal everyday?

a) All of these b) Two chapattis

c) Some dal d) A vegetable
Why was Nishad called Seven?

a) His roll number was seven b) His studied in grade seven

¢) He was born in the seventh month of d) His name meant the seventh note on

the year the musical scale
Mr. Nath's___ was badly scarred.
a) foot b) back
c) face d) hand

On which day did the visitor come to meet Mr. Nath?

a) Sunday b) Tuesday

¢) Wednesday d) Friday
Wonka-Vite made people

a) Older b) Fairer

¢) More beautiful d) Younger
By what means did Mr. Willy Wonka travel across the world?

a) The great flying car b) The grand chopper

c¢) The great glass elevator d) The magical parachute

What was the age of the volunteer who swallowed drops of Vita-WonKk in its trial phase?

a) Forty b) Eighteen

c¢) Thirty d) Twenty
Who was Mr. Willy Wonka?

a) A musician b) A teacher

c) A doctor d) An inventor
The old man Abbu Khan lived in :

a) Jasmmu b) Agra

c) Almora d) Nainital
What was the name of the youngest pretty goat ?

a) Moongia b) Kalua

¢) Gujri d) Chandni
On whom was Vita-Wonk tried and tested?

a) A giant rat b) Mr. Willy Wonka

¢) Oompa-Loompa volunteer d) Charlie
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How many drops of the new invention did the volunteer drink? (The invention of Vita-
Wonk)

a) Twenty b) Ten
c) Two d) Four
Why didn't the goats return return from the hills ?
a) none of these b) they went far
c) they were killed by an old wolf d) they hated Abbu Khan
trees live the longest, according to Mr. Willy Wonka.
a) Bristlecone pine b) Yews
¢) Gingko Biloba d) Banyan
Who was Mr. Willy Wonka's subordinate in the plot?
a) Charleston b) Charlie
c) Charles d) Clarke

What happened to the Oompa-Loompa volunteer after he swallowed the drops of Vita-Wonk?

a) He began to wrinkle b) All of these

c) He started shriveling d) His hair started falling
What did Abbu Khan say to himself when all his goats had left him ?

a) he would not buy any more goats in b) he would search them in hills
future
¢) he said nothing d) he would buy more goats

The fan stops running when :

a) you tell it to stop b) it gets tired

¢) the electric current is switched off d) it is not oiled

Choose the correct helping verb:

They _ getting ready when she arrived.

a) do b) were

c) have d) did
Choose the correct verb:
Ithinkyou___ read more books.

a) done b) does

¢) must d) must been

Choose the correct verb:

Now, she to be as perfect as possible.
a) try b) is trying
c) are trying d) tried

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

3/5



31.

32.

33.

34.

35.

36.

37.

38.

39.

Choose the correct article for the given sentence:

Rita is interesting person.
a) an b) a
c) no article d) the

Choose the correct article for the given sentence:

We are goingto___ cinema.

a) no article b) a

c) an d) the
Choose the correct adjective for the given sentence:
As compared to that, this is option.

a) good b) better

c) best d) gooder
Choose the correct adjective for the given sentence:
He doesnotlike _ food.

a) poor b) preety

c) stale d) strong

Which is the object pronoun in the given sentence?
They asked him to join us in the lecture.

a) In b) Us
¢) Him d) They

Choose the correct pronoun:
of the students needed her lock replaced.

a) Both b) All
c) Us d) One

Choose the correct noun:

My brother is anxious to join the army.

a) Common noun b) Material noun

¢) Collective noun d) Proper noun

Coffee gives me great relaxation on cold nights of winter. Which word is a non-countable

noun?
a) Coffee b) Great
c) Relaxation d) Gives

Choose the correct tense:

India the one-day match yesterday.
a) had won b) win
C) wins d) won
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40. Choose the correct tense: [1]

The phone while I was having a bath.
a) rings b) rang
C) was rang d) was ringing
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Solution
Class 07 - English
ENGLISH MCQ JANUARY-2021

(a) ten years
Explanation: he worked for ten years

(a) insulted
Explanation: insulted because he was unconcerned

(d) A bar of chocolate
Explanation: Nishad gave Mr. Nath a bar of chocolate for he concluded from Mr. Nath's lean and thin
appearance that he was starving.

(c) Nishad
Explanation: Nishad was called Seven by his sister Maya for his name meant the seventh note on the
musical scale.

(a) Maya's brother
Explanation: Nishad was Maya's younger brother in the plot, Expert detectives.

(b) Maya
Explanation: Maya, a ten-year-old girl was the narrator of the story, Expert detectives.

(d) Mr.Purcell read everything in the newspaper
Explanation: he had nothing else to do

(a) Due to heavy rains
Explanation: The roads were flooded because of heavy rains and the children could not reach their
schools, so, they got an unexpected holiday.

(b) Ten
Explanation: Maya was a ten-year-old girl who was always inquisitive about her neighbour Mr. Nath.

(a) All of these
Explanation: Mr. Nath was not very particular about food. He always ate the same food-two chapattis,
some dal, and a vegetable.

(d) His name meant the seventh note on the musical scale
Explanation: Nishad's sister Maya called him Seven for his name meant the seventh note on the musical
scale.

(c) face
Explanation: Mr. Nath's face was badly scarred and he was undergoing some treatment. He was Maya and
Nishad's mother's patient and the two were very curious to know about Mr. Nath probably due to his looks.

(a) Sunday
Explanation: Almost every Sunday a talkative, tall, stout, fair, and bespectacled man came to visit Mr.
Nath.

(d) Younger
Explanation: Mr. Willy Wonka invented Wonka-Vite that made people younger but unfortunately, it was
too strong and had drastically undesirable consequences in some cases.

(c) The great glass elevator
Explanation: Mr. Wonka invented strange things and he used to travel across the world in his Great Glass
elevator, to accomplish his mysterious works.

(d) Twenty
Explanation: The Oompa-Loompa volunteer was twenty years old before swallowing the drops and he
became seventy-five years old after it.

(d) An inventor
Explanation: Mr. Willy Wonka was an inventor who used to make quite strange inventions. He had an
inventing room where he used to carry those weird inventions.
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(c) Almora
Explanation: hilly

(d) Chandni
Explanation: the smallest goat's name

(c) Oompa-Loompa volunteer

Explanation: Mr. Willy Wonka invented a product which he called Vita-Wonk and that was supposed to
make people older. It was first given to a brave twenty-year-old Oompa-Loompa volunteer to see its effects
before launching it in the market.

(d) Four

Explanation: The Oompa-Loompa volunteer swallowed four drops of the new invention made by Mr.
Willy Wonka. He was twenty years of age when he swallowed the drops and the aftermath became a
seventy-five-year-old.

(c) they were killed by an old wolf

Explanation: wolf killed them

(a) Bristlecone pine

Explanation: Mr. Willy Wonka was working upon a drink that could make people older, so, he discussed
with his subordinate about the longest living tree and according to him, it was the Bristlecone pines that
lived the longest.

(b) Charlie

Explanation: Mr. Willy Wonka used to make strange inventions and he had a subordinate called Charlie
who assisted him to carry out all such mysterious works.

(b) All of these

Explanation: After taking drops of Vita-Wonk, the Oompa-Loompa volunteer began to wrinkle and shrivel.
His hair started falling and very soon he turned into an old man who appeared to be around seventy-five
years old.

(a) he would not buy any more goats in future
Explanation: not buy

(c) the electric current is switched off
Explanation: no power

(b) were
Explanation: were

(c) must
Explanation: must
(b) is trying
Explanation: is trying
(a) an

Explanation: an

(d) the

Explanation: the

(b) better
Explanation: better

(c) stale
Explanation: stale
(c) Him
Explanation: Him

(d) One
Explanation: One

(c) Collective noun
Explanation: Collective noun
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(a) Coffee
Explanation: Coffee

(d) won
Explanation: won

(b) rang
Explanation: rang
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) U
@\ & A A 6 & forg wgha &Y ama iy 7 82
a) Smmfa
¢) 91a+
ISl T g fhad &l TE 82 (I8 & ag)
a) et @
¢) ISIT-HgRISTTS @
ger &Y fatwar e gidt 82 (38 & 31R)
a) ag HYS thef Tar el 8
¢) I8 Fft 31U e B! @ral
W & 3R & AR Rea-A1d & d a1y 3 &2
a) SI9 gHRT [T 69HE gl 8
¢) S1e gH fodsr 77 &t =d 8
@A & 3 F forg wram ot qerfar mar 87
a) WuehR
¢) Gfgsorar
gt go¥ TRI9 g1 R T o 87 (B & alg)
a) U ohT ASITeh ISMT

c) gsdTan
WA & A & IR g4 ¢ A g9 =nfge Si-

b) faufy em w
d) guRg #

b) I

d) #rer

b) afRel @
d) skt &

b) gz siferdl & geh Sirar g
d) ag U=l @ forT Tga @

Y SERGERLURIEGES
d) 59 deh §HTR UTY hTth! ¥9-ateid gial &

b) aTegar
d) aRear

b) gu3t ¥ Hg fBurn
d) s &Y ard

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

a) AR 4 T 14 9 38 b) Afehel THT A g9 WERT &
C) BART TTeid Afes = &3 d) g=f

"&HET UTS & e 399 9 i 82
a) o Homfd b) ot IATETHY

c) dto @R d) &. TEETE
T UTS & TR 370g 3 di--T Aot uget g W= 8] ot of1?

a) & &l SR b) diehele &l STR
¢) dich & feedl d) fogpe &1 IR
T UTS S TR sl Sita- o 916 9T ShdT oT?
a) Ig Sl ehl FSIT &aT AT b) BRA aTet sl el ol ERT Wel T HiehT
gt &ar o1
C) BR U <2 ol U {E) e hech STHIA R d) 98 B8R gY o=l & A1 ar U1
TGt ugdt ot a9 STSf siq qET & Sirel

B! UR ShdT IATar UTI

&1 U135 A 310y T IRT &1 fohadht g wR dfea ar1?

a) ATt 3R IR hi b) A\t 3R FIY FH
¢) AR ek ST Hr d) FaR ok &ty &t
STTSt hd WA= # gdepT RIATSY SR} ATHT ST UT?
a) g8 UTALT0T UTCT h bt AT b) I8 &dl A IS g AGT TehdT AT
¢) g o3 ufaafirars & «ff Srar U7 d) I8 g3eH WeldT JgaT UT|
T UTS & YR WR e Wiiad AT oy fhadht Aag o1 argar 91?
a) &l o b) SiTSt
C) AR St &t d) ISl hi
&1 U3 | o1y fomT e forg Thet i ok &t gre mar?
a) T | U1 hY Smars AR b) HTER el Sfc AR
¢) TRt I b gAY d) SISt <hT SraTst g
T UTS &h IR gahMeR = i@ & forg s =fisr argr et g3 o1
a) fokgpe &1 SIR b) Al &1 IR
¢) Iiehaic T SR d) &d &1 SR
T UTS H 31g i & MR A fehdch AT o171 38 4?
a) R b) THTR &
c) 3ifadt & d) figH
T UTS H ST ARSI hafl H JTTS! T TS Ugl 38 o dt orey forgeht gfan A @lar gam ur?
a) &l &l b) foar &t
¢) ATaT &Y d) R &

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]
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21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

T fam1ahT uts & o W &fY fhg wita & ) @er ur?

a) gt 4 b) TaHIIH Bl
€) IaTH gAY d) wis H R
i 7 Y famTant srfaar & o g2sr 27 o1 uarg forar 82
a) A=t &Y gerrg g hr b) ¥HE 9 &3
¢) fomah @ s/ @t d) uetfat @1 a1y 7 33 @t
U fomTent wfdar & & e 82
a) TdH b) Hgledt af
¢) &.G=ETH d) sratent g Sureara gRafy
U foFTepT UTe & SR WR hfa s ot or?
a) a1 aTiker g off b) ag 3itefl-qur 7 the T U7
¢) IGh! 3iRkg H famrent Tt T YT d) gg geftad 7 for mar a7
& faeent faar & fameT ueat w sfa & am germ gg?
a) IYh! 3 AT g1 T3 b) g+t
¢) I 3@ F drer gl aft d) IGh! ATFdr §¢ T
U faraT shfaar & &a 2rsg ot oref sa1se?
a) a1 b) Sur™m
c) 3ig d) T IR &
Hfg &Y i@ 7 vt fament 8 fAerar? Ta foeehr urs & SR R d13u|
a) e 3 IGaT famrenT fAepTatt b) & 7 U Y g @ faeent Mawrer fean
¢) sfa 7 sirg 4t fomrenT FeTer d) wfa 3 @ vare foRar
Q& famrahT snfaar 7 &fa evie & da1 gon wef @er ur?
a) Iua_ A b) HR R
) Bd W d) A= A
'ge o wfar & wafar g8 @ &t 82
a) T b) sratear g Iurears 'gRRafer
¢) frawer g gua d) TR eqreT GG
Q& famraT snfaar 7 &fq = forg v fomar?
a) 3I9-uTg & o = b) Hs 7
¢) faeaT AT aret 3 d) 39T 1o ()
gfAfRR & wkal @ €Y oA & forg fea il & 7T &t wara w@r?
a) 18 b) 7
0S5 d 11

grifarge #ft eor & arer gRAATGR 3R N T Ur?

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]
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33.

34.

33.

36.

37.

38.

39.

40.

a) AFHL b) "
c) gt d) of
qifage it T & SE it araer s # fhads s F i o2

a) hof b) ﬂ@_'ﬁ

c) gt d) GAEA
grifarge st oot A gRaATqR 7 fheras ©R wier famar

a) AT b) Sof

c)ﬁg\" d)m
Uieql &l Ugelr S1ufa & o1

a) AP b) faRre

o) REd d) gEgH
SR &l UgelT G-Il S o

a) gaTeA b) A

o) uf 4 sftew

HETHRA & TG | -3 9 TSIt 3 9T 81 feram?

a) IO g SFHT p) fave g AL

c) yEYH 9 Rdd d) SIg el
YRTE Dl FOUT & AGH T iG] S&T ETeT DI FHATT UT?

a) G/ g b) AFH
c) 9rafeh d) sof
R ST H ¢/ o @ <t IR & it 31 1 Fhree IR Gha A?

a) GIcafeh, gafe ,&of b) &ig &

c) Eog, of, sfteq d) of glomar, sfrsq
HETIRA & Tg 7 +fipwr Y o IoT & forg fohg= fger famar?

a) ¥ie b) EAMET

c) &of d) g

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Solution
Class 07 - fg& (a¥5a 3R a1e1 7HgTvRA w91
Hindi Multiple Choice Questions Test (January) 2020-21

(b) TR & fga & faig

Explanation: g&i & fgd & foig

(c) T3 APIIRT U & ST STl 81

Explanation: ST§ Ag3RT U # ST STedl 8|

(b) TR S ™R

Explanation: fdufty 3mH

(a) snfa=

Explanation: 3mfg=

(d) s &

Explanation: 3R ¥

(c) T8 Tt 31U T el @rdr

Explanation: ag &t 319 thet =&l @ran

(d) 579 dh §AR U HThT eF-Serd gt &
Explanation: 59 9 §HR UM 1! &-gIdd gl &
(a) RU&R

Explanation: Ru&R

(d) rfi &Y st

Explanation: 3/ &Y ard

(d) =ft

Explanation: ¥+t

(@) &. w=EnE

Explanation: &. qarAmE

(2) A HTIR

Explanation: &d &7 3R

(C) BR §Y <2 a1 STUH LT 5 h¥ch STHIM TR T&HT UST o 9 SifS i &I & Siil o §g! UR chdl IelTdl |
Explanation: gR U &< &1 U HEI &g chTch STHIM TR I@HT Ut ot el Sifel aig g1 & Sitel <Y gg! IR ST Ialrar o1l
(d) IR R P AT

Explanation: R iR &g &t

(b) IU &= A g g gl Fehall AT

Explanation: 33 &dl & &3 g3 gl Tepar AT

(b) SItSt &Y

Explanation: &3 TRiad T AW TSt hl HEE o1 ATgdl AT Hifch g Tgd 3=l Weld ATl I o foh A ag Iqeh AT
TG STTYT oY S1ehT Sl UR SYhT STsT U1 US|

(c) T hY 6 AR
Explanation: %5 &Y G GAh

(d) I HTIR

Explanation: &d &T3R

(c) Sfiaet &

Explanation: 3ifact &

(a) Hat &t

Explanation: & & # TSt &1 U1 UM oh SR W hdl hl gHAT A QAT § 3T AT| AR Si GRT UGTY ST TR IGhT
foergp e oft eam gt em

d) s d L

Explanation: g5g # IR
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31

32.

33.

34.

35.

36.

37.

38.

39.

40.

(b) gHS T hH &T

Explanation: &3 3 &A1 & g 7 & &1 0™ fh a1 g1 Hfadr & SIgaR A7 & g6/ &I R & & iy Uk foemT 8t
STh g1

(d) Sratea fiig Iurearg gRaf
Explanation: -

(c) 3ITehY i@ H famenT et T Tl
Explanation: 35T i@ # faqemT Ier a7 o1
(b) Tft

Explanation: ¥t

(b) U

Explanation: 3u™d

(b) & 3 U Y g3 I famerT FarTer fea
Explanation: @1 3 & Ug &Y g & fa7e1 Renet faar
(b) R W

Explanation: ¥ ®

(b) 3rateaT R Sutear ‘gRafter
Explanation: srateat fg ureary 'gRafrer
(d) 3IThY 3t () A

Explanation: 35ehT 31t ()

@©5

Explanation: -

(c) AT

Explanation: -

(d) A

Explanation: -

(o) ﬁg?

Explanation: -

(d) gEYgH

Explanation: -

(@) e

Explanation:

(a) 9o 9 ST

Explanation: -

(a) Gl
Explanation: -

(d) of ,gromarf, sfrey
Explanation: -

(a)
offsq

Explanation: -
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ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 07 - MATHEMATICS
Mathematics MCQ Test : January 2020-21

Time Allowed: 40 minutes Maximum Marks: 40
1.  Find out the numbers if 12% of number is 1080. [1]

a) 9000 b) 6000

c) 8000 d) 7000

2. Rashmi buys a calculator for X720 and sells it at a loss of 6 %%. For how much does she sell it? [1]

a) X700 b) X672

c) X572 d) X600

3. Sheela bought two fans for 1200 each. She sold one at a loss of 5% and the other at a profit of [1]
10%. Find the selling price of each. Also find out the total profit or loss.

a) 1130, X1220, Profit = X100 b) 1140, X1320, Profit = X60
c) 1140, 31320, Profit = X70 d) 1140, X1320, Profit = X100
4.  What percent of 4500 is ¥9000? [1]
a) 50 b) 5
c) 2 d) 200

5. A farmer bought a buffalo for 44000 and a cow for ¥18000. He sold the buffalo at a loss of 5% [1]

but made a profit of 10% on the cow. The net result of the transaction is

a) loss of X 200 b) loss of X 400

¢) Profit of X 400 d) Profit of X 200
6. Total numbers of beads in a bag are 20, if red beads are 8 and blue beads are 12, find out the [1]

percentage of blue colour of beads.
a) 60% b) 30%
c) 50% d) 40%

7.  The population of a city was 40,000 in the year 1999. It increased at a rate of 10% p.a. Find the [1]
population at the end of the year 2000.

a) 35000 b) 44000
c) 40000 d) 44400
8.  The price of a car was %5,00,000 last year. It has increased by 10% this year. What is the price [1]
now?
a) X5,50,000 b) X3,00,800
c) X3,00,400 d) 34,40,000
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Interest on 12000 for 1 month at the rate of 10 % per annum is

a) X 600 b) 100
c) X150 d) X 1200

S.P of a toy is X540. If the profit made by the shopkeeper is 20%, the C.P of the toyis
a) X300 b) 3450

¢) X350 d) 3400

Rajni and Mohini deposited 3000 and ¥4000 in a company at the rate of 10% per annum for 3
years and 2% years respectively. The difference of the amounts received by them will be

a) X900 b) X 1200
c) X 1100 d) X 1000

In a scout camp, 40% of the scouts were from Gujarat State and 20% of these were from
Ahmedabad. The percentage of scouts in the camp from Ahmedabad is:

a) 8 b) 32.5
c) 25 d) 10
In what time will 1860 amount to X2278.50, if simple interest is calculated at 9% per annum?
a) 2 years b) 3 years 6 months
¢) 6 months d) 2 years 6 months
The interest on X 5000 at the rate of 15% per annum for one month is
a) X750 b) X62.50

c) X625 d) X 75
Find the ratio of X500 to 50,000 paise.

a) Itis 1:3 b) Itis 1:1

c) Itis 1:2 d) Itis 1:4
The cost of one packet of pencil having 46 pencils is 184 what will be the cost of such 98
pencils:

a) 3392 b) X80

c) 1120 d) X100

On selling an article for X 329, a dealer lost 6%. The cost price of the article is

a) X 350 b) X 335

c) X 310.37 d) X 348.74
Find 3% of 1hr in seconds.

a) 36 sec b) 108 sec

c) 56 sec d) 72 sec

Write down the additive inverse of %

a) b)

ENEN

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]
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20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

c) -% d) —%
Find:%x%xi—gx (_TM>

a) 0 b) 2

0 3 d1
Find the sum of 13% + (—11%) .

a) 2 b) 1

0+ d) 24
Which is greater number in the following:

a) -2 b) 0

05 d) 2
Sum of two rational numbers is -8, one of them is %, find the other number.

a) _T% b) 3—52

02 d) 35

How many rational numbers are there between two rational numbers?

a)l b) 3
c) 2 d) unlimited
Find a rational number between i and %
a) 3 b) 0
0 3 d 2
In the standard form of a rational number, the denominator is always a
a)l b) positive integer
C) negative integer d)o

Which of the following rational numbers is equal to its reciprocal?

a)% b) 1
c)0 d) 2

Find the value of %1 = %.

a) -6 b) 6

c) None of these d) %1
Rewrite the rational number ;—;8 in the simplest form.

a) _?5 b) %

c) % d) %3
Find the multiplicative inverse of -13.

a) 12 b) -13

) = d) 13

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]
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31.  Find the product of %3 x 35 % %1. [1]

7
a) % b) %
0 % d1
32.  Which of the following rational numbers is positive? [1]
a) _1—193 b) :—i
c) _1—21 d) _78
33.  The value of - % — _?1 is [1]
a) -1 b) 2
c)-2 d) -3
34.  Fill in the boxes with the correct symbol: _?3 - _15 [1]
a) < b) =
c) > d) #

35. Romila, Pooja and Swati went out for dinner in a hotel. Romila paid % of the bill, Pooja paid % [11

of the bill. Swati paid the remaining part of the bill. What part of the bill was paid by Swati?

7 1
a) T b) R
3 4
) 15 D 35
36. Anu wants to fence the garden in front of her house, on three sides with lengths 20 m, 12 m [1]

and 12 m. Find the cost of fencing at the rate of X150 per metre.

a) 37000 b) 37100
¢) 36600 d) %8000
37.  Find BG, if the area of the triangle ABC is 36 cm? and the height AD is 6 cm. [1]
a) 16 cm b) 12 cm
c) 14 cm d) 10 cm

38.  Arectangle has a length that is 2 less than 3 times the width. If the area of the rectangleis 16  [1]

cm?, find the dimensions.

a) Length = 6 cm, width = 3 cm b) Length = 6 cm, width =5 cm
¢) Length = 6 cm, width = 4 cm d) Length = 6 cm, width = 2 %cm
39. The perimeter of the figure ABCDEFGHI] is [1]
A J
(’CI“ I Jcm ”
B 5cm
4cm G F
2cm
D 20 cm E
a) 30 cm b) 50 cm
c) 60 cm d) 40 cm
40. The side of a square is 4 cm. Find the area of the triangles formed by joining all of its [1]
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diagonals.
a) 4 cm?2 b) 8 cm?

¢) 10 cm? d) 6 cm?
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Solution
Class 07 - Mathematics
Mathematics MCQ Test : January 2020-21

(a) 9000
Explanation: Let a number = X
12% of number 1080

X x == 100 = 1080

12X =108000
X = 108000 - 9000

(b) X672
Explanation: C. P of a calculator = X720

loss of 62 % = 720 X = =24 X 2 =48

S.P of a calculator = C.P - Loss = X720 - X 48 = X672
(b) 31140, X1320, Profit = 60

Explanation: Cost price of one fan= 31200

Let C.P of fan = X100

Loss of 5% on one fan then S.P. is Y95

Then, S.P. of one fan = % =31140

Profit of 10% on second fan then S.P. is X110

Then, S.P. of second fan = (%) =31320

Total S.P = X. (1140 + 1320) = 2460 X

Total C.P =X (1200 + 1200) = X 2400

Profit = S.P - C.P = 2460 - 2400 = X 60

(d) 200

Explanation: Let the required percentage be x%

= :I:% of 4500 = 9000
= ——= x 4500 = 9000

1()0
= 45z = 9000
__ 9000
=T = "5
=200

(b) loss of X400

Explanation: Given, cost price of buffalo is 44000 and cost price of cow is 18000
Buffalo sold at 1oss% = 5%

And profit % for cow is 10%

= We know that Loss% = 25 x 100

Los CP
0SS
= 5= 24000 % 100

= Loss = 5 x 440 = 2200
Therefore, Selling price of cow = 44000 - 2200 = 41,800
Also, Profit % on the cow is 10%

— Profit % = Pmﬁt x 100

= 10 = TRIL 100

= Profit = 1800

We know that SP = CP + Pofit = 18000 + 1800 = 19800

Total cost of both the animals is 44000 + 18000 = 62000

Total selling price of both the animals is 41800 + 19800 = 61600

Therefore, Net loss = CP - SP = 62000 - 61600 = 400

(a) 60%
Explanation: Total numbers of beads in a bag = 20
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10.

11.

12.

% of red beads = 28—0 x 100 =40 %
% of blue beads = 1—(2) x 100 = 60%

2
(b) 44000

Explanation: 10% of 40000 population =
Population in 2000 = 40000 + 4000 = 44000

(a) 5,50,000

Explanation: Last year, Cost price of a car =%5,00,000
Increased by 10% this year = X 500000 x
Now, the price is = X 500000 + 50000 = %5,50,000

(b) X100

Explanation: Given, Principal (P) = 12000

Rate (R) = 10%
Time(T) = 1 month = % year

We know that interest = %
_ 12000x10x1
100x12
=100
(b) X450

Explanation: S.P of a toy = X540
Let C.P =X100

After 20% profit, S.P =X 100 + 20 = X120

540x100
120

Then, C.Pis =
(c) 1100
Explanation: Given, For Rajini
Principal = 3000

Rate = 10%

Time = 3 years

=%450

PxRxT
100

Also, interest = =
_3000x10x3

- 100

=900

Thus, amount (A) =P + I =3000 + 900 = 3900

And for Mohini,

Principal = 4000

Rate =10 %

Time = 2% years = % years
J — 4000x10x5

100x2
=1000

Therefore, A = 4000 + 1000 = 5000

Hence, Difference of amount = 5000 - 3900 = 1100

(a8

Explanation: Let us consider the scouts in camp = 100
Then, scouts from Gujarat = 40% of 100 =

=40

Scouts from Ahmedabad = 20 % of 40 = 2% x 40

=8

Percentage of scouts from Ahmedabad =

8

=8%

L0+ 40000 = 4000

10 250000

Ahmedabad Scouts « 100%
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13.

14.

15.

16.

17.

18.

19.

20.

21.

(d) 2 years 6 months
Explanation: Sum = 31860
Amount = X2278.50

Amount = S.I + Sum
PRT

= 2278.50 = &L . p
= 2278.50 = %ﬁ’” +1860
= 2278.50 = % +1860

= 2278.50-1860 = 167.4T
= 418.50 = 167.4T
418.5

=T= T 2.5 = Means 2 years 6 month

(b) X 62.50

Explanation: P = Rs 5000, R = 15 %, T = 1 month = % years

Therefore, Interest = 5000 x 15 v L 26250

100 © 12
(b) Itis 1:1
Explanation: X500 to 50,000 paise
We know that 1 X = 100 paise
Then, 500 X 100 paise : 50,000 paise
50,000 paise : 50,000 paise
1:1
(a) X392

Explanation: The cost of 46 pencils = X184

The cost of 1 pencil = ?%4 =34

The cost of 98 pencils = X4 X 98 = X392

(a) X350
Explanation: Given, selling price = 329 and loss % = 6 %

We know that loss% = % x 100

CP-SP
= 6= 2L 100

6 —
= CP— mC’P— 329

94 .
= WCP =329

= CP =350

(b) 108 sec

Explanation: 3% of 1hr in seconds.
We know that 1 hr = 3600 sec

3% of 3600sec = % x 3600 =3 x 36 = 108 sec

3
@ -3

Explanation: Additive inverse is the number, which when added to the given number gives result as 0.

So, additive inverse of % is — 2

3 3 7
—7t7 =0
© 3
Explanation: _?4 X % X % X (_TM>

Reducing 9 with 3, 16 with 4, 15 with 5, -14 with 7

-1 1.3 —2

T X1 X (T)
Reducing 3 with 3 and 4 with -2
1

2
(d) 2%
Explanation: 13% + (_11%)



22.

23.

24.

23.

26.

27.

28.

29.

30.

Here, we can add 13 + (-11) seperately and %+ (-%)

So0,13+(-11) =2

3,1 _1
ey

So, the ans is 2%
@ 3

. . 1.
Explanation: Obviously, 3 is greater.
Positive number > zero > negative number.

@ —2

Explanation: Sum of two rational numbers is -8, one of them is

Let the other number is x
3 = -
So, 1 + ); =-8
=_8- n
—32-3

4
=35
4
(d) unlimited

Explanation: There are infinite numbers between any two rational numbers.

@ 4

Explanation: To find a rational number between % and %

Add both numbers and divide it by 2.
1,1_142 3

4 2 4 4

e 3 _3
Now divide it by 2, 2 -3
So, rational number between % and % is %

(b) positive integer

Explanation: A rational number is said to be in the standard form, if its denominator is a positive integer.

(Mb)1

Explanation: We know that, the numerator and denominator have no common factor other than 1.

So,1/1

Reciprocal of 1/1 =1

~1
D) -
Explanation: :% =
-zl 4
R
S
T 2x3

—1

SN [SY

6
@ =

Explanation: First we will reduce 18 with 2

48
-9
24

Now, we will reduce ;—j with 3

So, the ans would be =3

8
© =

So, the result would be

Explanation: The multiplicative inverse is the number which when multiplied with the given number

gives result as 1.
e -13 , -1
So, Multiplicative inverse of - s 3
-13 _ -1 _
T X131
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31.

32.

33.

34.

35.

36.

37.

38.

39.

@ -

Explanation: = %3 X 3—75 X %
(reducing 6 with -3 and 35 with 5)
_ —1x7x-1
T Tx2
=1
T2
-3
(b) —

Explanation: We know that, when the numerator and denominator of a rational number, both are
negative, it is a positive rational number.

Hence, among the given rational numbers :—i = % is positive.

(@-1

e 4 -1 441 _ -3 _
Explanation: : T = 3 — 3 = 1
(b) =

Explanation: Since, both given numbers are same with same sign.
So, they are equal
-3 3

5 -5

7

@
Explanation: Given,
Romila paid 5 of the bill
Pooja paid < of the bill

Let, Swati paid bill = x
1.1

So, 5*13 +1x =1
X=1-5-3

15-3-5 :

—;— {taking LCM of 5 and 3 as 15}
"1
_ 15-8

15

(c) 36600

Explanation: Length of boundary to be fenced =20 + 12 + 12 =44 m
Cost of fencing = 44 X 150 = 36600

(b) 12 cm

Explanation: Area of the triangle ABC = % X BC X AD

_ Area
So,BC=2 X THeight
36

6
=12 cm

=2 X

(d) Length = 6 cm, width = 2Zcm
Explanation: Let width = x cm
length = 3x-2
Area =x(3x-2)=16
3x%-2x-16=0
3x%-8x + 6x-16 =0
xX(3x-8)+2(3x-8)=0
(3x-8)x+2)=0
= % (x is not equal to -2 as x is length and it can't be negative)
so, Width = $=22cm
Length =3 X %-2=6cm
(c) 60 cm
Explanation: Perimeter = Sum of all sides
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40.

So,A]+JI+IH+HG+GF+FE+ED +CD + BC+ AB
=(AJ+IH+GF+BC)+3+5+2+20+4+6
=DE+40[. A]+IH + GF + BC = DE]
=20+40=60cm

(a) 4 cm?

Explanation: The four triangles so formed will have equal area.

. Area of square
So, Area of each triangle = +: 14—6 = 4 cm?
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2.

3.

ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 07 - SCIENCE
SCIENCE MCQ (JANUARY-2021)

The process complementary to respiration is

a) Nutrition b) Transportation

c) Photosynthesis d) Breathing

The chemical used to test the carbon dioxide gas in exhaled air is
a) Lime water b) Lime stone

c) Lime juice d) Quick lime

In the following figure of respiratory system, the organs labelled by 1 and 2 are __,

respectively.

DIAPHRAGM
Respiratory System

a) Lungs, Tracheae b) Tracheae, Lungs

c) Lungs, Nasal cavity d) Nasal cavity, Lungs
In anaerobic respiration which chemical substance is produced?

a) Lactic acid b) Formic acid

¢) Alcohol d) Citric acid

Respiration in addition to producing energy also carries out function of

a) Producing food b) Maintaining the water level
¢) Producing the major part of body d) Maintaining the blood flow
heat

What is the percentage of oxygen in inhaled air?
a) 21% b) 164%
c) 18% d) 24%

During inhalation, ribs moves up and diaphragm moves

a) Both upward and downward b) Upward
c¢) Laterally d) Downward
During inhalation, chest cavity in size.

Maximum Marks: 40
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10.

11.

12.

13.

14.

15.

16.

17.

18.

a) Decrease

¢) Remain same

b) Increase

d) Either increase or decrease

Respiratory organs and process of breathing is not same as human beings in

a) Cat
¢) Dog

Gills are well supplied with
a) Water tubes

¢) Membrane cells

Select the true statement.

a) Respiration is part of breathing

¢) Both respiration and breathing are

same
Respiratory organs of plants include

a) Stomata, cork and root hair

c) Stomata, lenticels and root hair
The site of cellular respiration is:

a) nucleus

c) chloroplast

Which one of the following process generates a force which pulls water absorbed by the

roots?

a) Transpiration

c) Photosynthesis

b) Horse
d) Cockroach

for exchange of gases.

b) Phloem cells
d) Blood vessels

b) Breathing and respiration are two
separate process

d) Breathing is part of respiration

b) Stomata, lenticels and root nodule

d) Stomata, trachoma and root hair

b) cell membrane

d) mitochondria

b) Glycolysis

d) Respiration

Which one of the following is an excretory product in humans?

a) Carbon dioxide

c) Urea

b) Carbon dioxide and Urea

d) Oxygen

Name an animal that do not possess circulatory system?

a) Earthworm

c) Hydra

What is the pulse rate of a resting person?

a) 82-90 beats / min
c) 62-70 beats / min

b) Cockroach
d) Frog

b) 52-60 beats / min
d) 72-80 beats / min

In plants, food prepared in leaves is transported to other parts of plant through

a) Capillaries

c) Stomata

b) Phloem tissues

d) Xylem tissues
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19.

20.

21.

22.

23.

24.

23.

26.

27.

28.

29.

Blood is slightly
a) Acidic b) Highly acidic

¢) Neutral d) Alkaline

Less amount of haemoglobin in blood leads to

a) Diarrhoea b) Hydrophobia
c) Haemophilia d) Anaemia
An adult human being normally passes about -------------- of urine in 24 hours.
a)2to2.5L b) 0.5t00.85L
c)2to5L d)1to1.8L

They are pipe-like, consisting of a group of specialised cells. They transport substances form a
two-way traffic in plants. Which of the following terms qualify for the features mentioned

above?
a) Phloem tissue b) xylem tissue
c) Root hairs d) Vascular tissue

In mammals, the urinary bladder open into
a) Urethra b) Uterus
c) Vestibule d) Ureter
In a tall tree, which force is responsible for pulling water and minerals from the soil?
a) Suction force b) Gravitational force
¢) Conduction force d) Transportation force
The artery can be distinguished from the vein in having
a) Thick walls b) More plasma
¢) More blood cells d) Larger cavity
Blood cells that protect us from infection are called
a) White blood cells b) Erythrocytes
c) Red blood cells d) Thrombocytes
Most common means of pollination is
a) Human b) Water
c) Light d) Air
In yeasts reproduction occurs by:
a) Spore formation b) Budding
¢) Binary fission d) Fragmentation
Which process of asexual reproduction is involved in fern?
a) Vegetative propagation b) Budding

c) Fragmentation d) Spore formation
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30.

31

32.

33.

34.

33.

36.

37.

38.

39.

40.

Pollen grain is

a) Spore mother cell b) Female gametophyte
c) Partially developed male d) Male sperm cell
gametophyte

Mustard and rose have

a) Mustard is bisexual but rose in b) Mustard is unisexual but rose is
unisexual bisexual
¢) Unisexual flower d) Bisexual flower

Process of fertilization in plants occur:

a) On the stigma b) Inside the anther

¢) Inside the ovary d) Outside the ovary

Fruit is a mature ovary, where as seed is fertilized
a) Petals b) Anther

¢) Carpel d) Ovule

In which of the following plants, buds are present on the margins of leaves.

a) Coriander b) Bryophyllum
¢) Touch me not d) Chandan
Which part of a plant is not involved in vegetative propagation?
a) Stem b) Root
c) seeds d) Leaves
The main function of coloured petals of flowers is to
a) To store nectar b) Produce anther

c) Attract insects for pollination d) To attract human

The plants produced by vegetative production are

a) Exact copies of parent b) Same features but different colour

c) Same in size but different in taste d) Different from the parent
Vegetative propagation in potato takes place by:

a) Seed b) Root

c) Leaves d) Stem
The scars on potato tuber is called

a) Eyes b) Seed

c) Axil d) Buds
In bread molds, spores are produced inside

a) Ovary b) Sporangium

¢) Bracts d) Anther
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10.

11.

12.

Solution
Class 07 - Science
SCIENCE MCQ (]ANUARY-2021)

(c) Photosynthesis

Explanation: Photosynthesis and cellular respiration are complementary processes by which living things
obtain needed substances. They both consume and create the same substances (water, glucose, oxygen, and
carbon dioxide) but in different ways.

(a) Lime water
Explanation: Limewater will turn cloudy milky when a certain amount of carbon dioxide is passed
through it. It is a specific test for carbon dioxide.

(b) Tracheae, Lungs
Explanation:

i. Tracheae: The trachea (windpipe) extends from the larynx toward the lungs.
ii. Lungs: From the nasal cavity, the air reaches our lungs through the windpipe.

(c) Alcohol

Explanation: Anaerobic respiration is a type of respiration that does not use oxygen. Alcoholic
fermentation is used in brewing industry for the production of various types of beers, whisky and other
wines.

(c) Producing the major part of body heat

Explanation: Respiration in addition to producing energy also carries out function of producing the major
part of body heat. Carbon dioxide is a waste product of respiration and is formed from carbon and oxygen
which were originally part of the food molecules. Heat energy may be released from cells during
respiration.

(@) 21%

Explanation: The air in our environment has 21% oxygen. It is same, environmental air which goes in the
lungs during inspiration.

(d) Downward

Explanation: The process of taking in of air rich in oxygen into the body is called ‘inhalation’. During
inhalation, ribs move up and outwards and diaphragm moves downward.

(b) Increase

Explanation: When you breathe in, or inhale, your diaphragm contracts and moves downward. This
increases the space in your chest cavity, into which your lungs expand. The inter costal muscles between
your ribs also help enlarge the chest cavity. They contract to pull your rib cage both upward and outward
when you inhale.

(d) Cockroach

Explanation: Respiration in cockroach and other insects is not same as the respiratory system in humans.
Animals like birds, cows, elephants, frogs, lions, lizards, snakes, including humans, have lungs as their
primary respiratory organ. In these animals, lungs perform the function of exchanging air with the aid of
nostrils, nasal cavity, and the windpipe. However, insects and worms do not have lungs to perform their
respiratory function.

(d) Blood vessels
Explanation: Gills in fish help them to use oxygen dissolved in water and thus, help them in breathing.
Gills are projections of their skin. These are well supplied with blood vessels for exchange of gases.

(d) Breathing is part of respiration
Explanation: Breathing is a part of physiological respiration and functions to bring oxygen into the lungs
and expel carbon dioxide. So Breathing is a part of physiological respiration is true statement.

(c) Stomata, lenticels and root hair
Explanation: During respiration in plants, very little transport of gases takes place from one plant part to

1/4



13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

23.

26.

another. Therefore, each plant part takes care of its own energy needs, or in other words, its gas exchange
need. Roots, stems and leaves of plants exchange gases for respiration separately. . Leaves of plants have
tiny pores called stomata, which is used for the exchange of gases. If stems are woody gaseous exchange is
carried out by lenticels. Root of plant respire by root hair.

(d) mitochondria
Explanation: Respiration happens inside the cells. A cell organelle called mitochondria is the site of
cellular respiration.

(a) Transpiration
Explanation: Transpiration pull is referred as suction force and this force is used to draw the water in an
upward direction from the roots to the leaves.

(b) Carbon dioxide and Urea

Explanation: The excretory system is responsible for the removal of waste produced in the cells, such as
urea, water vapour and undigested food. Carbon dioxide is excretory product of respiratory system . So
carbon dioxide and urea are an excretory product in humans.

(c) Hydra

Explanation: Animals such as sponges and Hydra do not posses any circulatory system. The water in
which they live brings food and oxygen as it enters their bodies. The water carries away waste materials
and carbon dioxide as it moves out. Thus, these animals do not need a circulatory fluid like the blood.

(d) 72-80 beats / min
Explanation: The number of beats per minute is called the pulse rate. A resting person, usually has a pulse
rate between 72 and 80 beats per minute.

(b) Phloem tissues

Explanation: Xylem tissues is responsible for transport of water, while phloem tissues is responsible for
transport of food. So, In plants, food prepared in leaves is transported to other parts of plant through
Phloem tissues.

(d) Alkaline

Explanation: A pH of 7.0, in the middle of this scale, is neutral. Blood is normally slightly basic, alkaline,
with a pH range of 7.35 to 7.45. To function properly, the body maintains the pH of blood close to 7.40. An
important property of blood is its degree of acidity and alkalinity, and this is referred to as acid-base
balance.

(d) Anaemia
Explanation: Anemia occurs when you have a decreased level of hemoglobin in your red blood cells
(RBCs). Hemoglobin is the protein in your RBCs that is responsible for carrying oxygen to your tissues.

(d)1to1.8L

Explanation: The kindeys, ureters, bladder and urethra form the excretory system. An adult human being
normally passes about 1- 1.8 L of urine in 24 hours. The urine consists of 95% water,2.5% urea and 2.5%
other waste products.

(a) Phloem tissue

Explanation: Phloem tissue

(a) Urethra

Explanation: The ureters of mammals are two in number and lead from each kidney to the urinary
bladder.

(a) Suction force
Explanation: Suction force

(a) Thick walls
Explanation: Arteries are made of thicker walls. Veins are made of thinner walls.

(a) White blood cells
Explanation: White Blood Cells or White Blood Corpuscles (WBC) are present in various shapes. White
blood cells, also called leukocytes, are essential for good health and protection against illness and disease.
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28.

29.

30.

31

32.

33.

34.

33.

36.

37.

38.

39.

(d) Air

Explanation: The transfer of pollen from the another to the stigma of a flower is called pollination. Plants
need help from various agents of pollination to carry out cross pollination. Wind, insects, birds and other
animals play the role of agent of pollination.

(b) Budding
Explanation: Most yeasts reproduce asexually by an asymmetric division process called budding. First it
produces a small protuberance on the parent cell that grows to a full size and forms a bud.

(d) Spore formation

Explanation: A spore is an asexual reproductive body, surrounded by a hard protective cover to withstand
unfavourable conditions such as high temperature and low humidity. Under favourable conditions, the
spores germinate and grow into new plants. Plants like moss and ferns use this mode of reproduction.

(c) Partially developed male gametophyte
Explanation: Pollen grains are produced inside anther. Pollen grains are the male gametes.

(d) Bisexual flower

Explanation: The flowers which contain either only the pistil or only the stamens are called unisexual
flowers. The flowers which contain both stamens and pistil are called bisexual flowers. Corn, papaya
and cucumber produce unisexual flowers, whereas mustard, rose and petunia have bisexual flowers.

(c) Inside the ovary

Explanation: Fertilization is the process of fusion of the male and female gametes to develop a new
individual. In plants, fertilization is after pollination of the carpel, there is germination of the pollen grain
and a pollen tube grows and travels to the ovary. After the process of fertilization the ovary swells up and
develops into a fruit.

(d) Ovule

Explanation: After fertilisation, the ovary grows into a fruit and other parts of the flower fall off. The fruit
is the ripened ovary. The seeds develop from the ovules. The seed contains an embryo enclosed in a
protective seed coat.

(b) Bryophyllum

Explanation: The leaf in the Bryophyllum plant is broad and has notches at its margins. Buds arise from
the notches. When the buds drop off from the leaf and placed in soil, they develop into new plant with
roots and small leaves.

(c) seeds
Explanation: The seeds contain only the genetic material of the parent plant. Therefore, propagation via
asexual seeds is asexual reproduction but not vegetative propagation.

(c) Attract insects for pollination
Explanation: Petals are modified leaves that surround the reproductive parts of flowers. They are often
brightly colored or unusually shaped to attract pollinators.

(a) Exact copies of parent

Explanation: The plants can grow in less time by vegetative propagation. They bear flowers and fruits
earlier than those produced by sexual reproduction or from the seeds. The new plants produced by
vegetative propagation are exact copies of the parent plant, as they are produced from a single parent,
while the plants produced by sexual reproduction are not true copy of any parent but have the characters
of both parents.

(d) Stem

Explanation: The underground modification of stem, of tuber (potato) is provided with buds which
develop into a new plant and are therefore used to carry out vegetative propagation of the plant in the
field.

(a) Eyes
Explanation: The scars on the potato are called 'eyes'. They are actually the buds. Each bud can grow into
a new plant.
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40.

(b) Sporangium
Explanation: Special spore-bearing organs are present in fungi and algae. These are called
sporangiophores. The sporangiophore bears spores. The spores germinate to develop a new plant. So, In

bread molds, spores are produced inside Sporangium.
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Who described his interest in planning and laying out formal gardens, placed within

rectangular walled enclosures, and divided into four quarters by artificial channels.
a) Jahangir b) Akbar
c) Babur d) Shah Jahan

An inscription in the Delhi mosque explained that God chose Alauddin as a king because he
had the qualities of:

a) Moses and Shiva b) Shiva and Vishnu

¢) Moses and Solomon d) Vishnu and Solomon

Shah Jahan’s audience halls were specially constructed to resemble a
a) Mosque b) Chruch

¢) Temple d) Garden

Qutb Minar constructed around-

a) 1190 b) 1199
c) 1192 d) 1189
Among the following mughals especially was personally interested in literature, art

and architecture.

a) Akbar b) Babar

¢) Shah Jahan d) Jahangir
Sultan Mahmud of Ghazni looted which temple?

a) Lotus b) Somnath

c) Birla d) Vithal
Who won universal respect for constructing a large reservoir?

a) Babar b) Akbar

¢) Qutbuddin Aibak d) Sultan Iltutmish
The fort at Masulipatnam was built by the

a) Indian b) Dutch

c¢) East India Company d) French

Which two Companies attempted to control Masulipatnam as it became the most important

port on the Andhra coast?

Maximum Marks: 40
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

a) Dutch and English East India b) Dutch and Portuguese

c) Portuguese and English East India d) Portuguese and French

Hampi was the capital of which empire?

a) None of these b) Mughal

c) Vijayanagara d) Mewar

Who emerged as the most successful commercial and political power in the subcontinent?

a) French b) Dutch
c) Portuguese d) English
Which of the following metal was used by the Bidar craftsmen?
a) Copper and Tin b) Copper and Silver
¢) Tin and Gold d) Gold and Silver

A piece of land beyond coast is known as

a) Plainland b) Hinterland
c¢) Tableland d) Coastland
Surat has been called the gateto ___ because many pilgrim ships set sail from here.
a) Medina b) Badrinath
¢) Mecca d) Kashi

Example of the areas where a warm and cold current meet are

a) Sea area around China and South b) Sea area around Japan and North
America America
c) Sea area around Japan and South d) Sea area around China and North
America America
The strong gravitational pull exerted by on the earth's surface causes the tides.
a) the plants and the moon b) the sun and the stars
c) the plants and the animals d) the sun and the moon

How much percent of the water available in rivers and freshwater lakes?

a) 0.091 b) 0.91

c) 0.0091 d) 0.00091
Dead sea isin

a) Turkey b) Lebanon

c) Egypt d) Israel
What is the percentage of fresh water?

a) 2.3 b) 2.8

c) 2.5 d) 2.7

Which area provides the best fishing grounds of the world?
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a) The areas of the cold currents b) The areas of the low tides
¢) The areas of the warm currents d) The areas where the warm and cold
currents meets

21.  Identify the sea marked (iii), (iv) and (v) from the figure given below

L]
i /
(v} v () ]
'3 )

—
a) South China Sea, Arabian sea, b) Red sea, Mediterranean Sea,
Caribbean sea Caribbean sea
c) Red sea, Arabian sea, Caribbean sea d) East China sea, Red sea, Caribbean

sea

22.  The below mention forests are located in the mid-latitudinal coastal region

a) Temperate deciduous forest b) Tropical deciduous forest

c) Tropical evergreen forest d) Temperate evergreen forest

23.  Seal, walruses, musk-oxen, Arctic owl, Polar bear, and snow foxes are some of the animals

found in
a) Temperate grassland b) Thorny bushes
c) Taiga d) Tundra

24.  Following trees are found in the temperate deciduous forest except:

a) Oak b) Ash
c) Beech d) Shisham

25.  Tropical deciduous forest shed their leave in the dry season

a) to conserve water b) to conserve fruits

¢) to conserve soil d) to conserve leaves

26.  Which forest is known as a monsoon forest?
a) Tropical deciduous forest b) Tropical evergreen forest

c) Temperate evergreen forest d) Temperate deciduous forest

[1]

[1]

[1]

[1]

[1]

[1]

3/5



27.

28.

29.

30.

31

32.

33.

34.

35.

Grass in these grasslands is short and nutritious-
a) Thorny bushes b) Deciduous grassland
c) Tropical grasslands d) Temperate grassland
What was the purpose of setting up Anganwadis in several villages?
a) Health centres b) Child care centres

c) Yoga centres d) Adult education centres

If a boy has put in a lot of effort into making a special birthday gift for his friend and this
friend does not say anything about this, then the boy may feel

a) De-valued b) Pre-valued

¢) No-valued d) Re-valued
The provision of ___helps many women to take up employment outside the home.

a) Hospital b) Court

c) Creches d) Law
What were the main responsibilities that lie with women in 1920s?

a) Looking after the family b) Looking after the house

c) All of these d) Cooking food for the family
What did girls learn after the age of 14 years?

a) Learning to weave basket b) All of these

¢) Doing plantation d) Learning cooking

does not make any discrimination on the basis of gender.
a) Court b) Judge

c) Constitution d) Parliament

Below lady was a first lady

a) Car driver b) Metro train driver

¢) Engine driver d) Bus driver

Women work in agricultural sector includes

a) planting, seeding, harvesting and b) planting, seeding, harvesting and
playing digging
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37.

38.

39.

40.

c) planting, weeding, harvesting and d) planting, weeding, harvesting and
threshing digging

Earlier it was believed that if a woman learnt to read and write

a) she would bring bad luck to her b) she would bring bad luck to her
husband and become a widow society

¢) she would bring bad luck to her d) she would bring bad luck to her
children family

When we do not treat people equally we create

a) Devalued b) Double valued

c¢) Difference d) Discrimination

This refers to physical or verbal behaviour that is of a sexual nature and against the wishes of

a woman.
a) Domestic harassment b) Gender harassment
¢) Male harassment d) Sexual harassment

Every year, on 14 August, several people gather at Wagah on the border of and
a) India, China b) India, Sri Lanka
c) India, Pakistan d) India, Nepal

We saw how boys and girls are made to take certain subjects not because he or she has an

aptitude for it, but because they are either boys or girls. It is an example of

a) Differences b) Harassment

c) Stereotype d) Domestic violence
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SOCIAL SCIENCE MCQ JANUARY- 2021

(c) Babur

Explanation: In Babur's autobiography, there is a description of his interest in planning and laying out
formal gardens, placed within rectangular walled enclosures, and divided into four quarters by artificial
channels.

(c) Moses and Solomon
Explanation: An inscription in the Delhi mosque explained that God chose Alauddin as a king because he
had the qualities of Moses and Solomon, the great law-givers of the past.

(a) Mosque

Explanation: It was during Shah Jahan’s reign that the different elements of Mughal architecture were
fused together in a grand harmonious synthesis. Shah Jahan’s audience halls were specially constructed to
resemble a mosque.

(b) 1199

Explanation: Qutbuddin Aybak had Qutb Minar constructed around 1199.

(c) Shah Jahan

Explanation: Babur, Humayun, Akbar, Jahangir, and especially Shah Jahan were personally interested in
literature, art, and architecture.

(b) Somnath

Explanation: Sultan Mahmud was not a very important ruler at that time. But by destroying and looting
temples - especially the one at Somnath - he tried to win credit as a great hero of Islam.

(d) Sultan Iltutmish
Explanation: Sultan Iltutmish won universal respect for constructing a large reservoir just outside Dehli-i-
Kuhna. It was called the Hauz-i Sultani or the “King’s Reservoir”.

(b) Dutch
Explanation: Dutch and English East India Companies attempted to control Masulipatnam as it became the
most important port on the Andhra coast. The fort at Masulipatnam was built by the Dutch.

(a) Dutch and English East India

Explanation: Both the Dutch and English East India Companies attempted to control Masulipatnam as it
became the most important port on the Andhra coast.

(c) Vijayanagara

Explanation: Hampi is located in the Krishna-Tungabhadra basin that formed the nucleus of the
Vijayanagara Empire, founded in 1336.

(d) English

Explanation: The European Companies used their naval power to gain control of the sea trade and forced
Indian traders to work as their agents. Ultimately, the English emerged as the most successful commercial
and political power in the subcontinent.

(b) Copper and Silver
Explanation: The craftspersons of Bidar were so famed for their inlay work in copper and silver that it
came to be called Bidri.

(b) Hinterland
Explanation: Hinterland is the remote areas of a country away from the coast or the banks of major
rivers.

(c) Mecca
Explanation: Surat has also been called the gate to Mecca because many pilgrim ships set sail from here.

(b) Sea area around Japan and North America
Explanation: Sea area around Japan and North America. i.e. The Labrador Current meets the Gulf Stream
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off the coast of Newfoundland. When warm, moist air from the Gulf Stream blows over the cold Labrador
Current, water vapour condenses. This results in some of the thickest fogs in the world.
Can be understood with the help of the map below:

2 SEE7<

(d) the sun and the moon
Explanation: The strong gravitational pull exerted by the sun and the moon on the earth's surface cause
the tides.

(c) 0.0091
Explanation: Percent of water available in rivers and freshwater lakes is 0.0091

(d) Israel

Explanation: The Dead Sea - bordering Israel, the West Bank, and Jordan - is a salt lake whose banks are
more than 400m below sea level, the lowest point on dry land. Its famously hypersaline water makes
floating easy, and its mineral-rich black mud is used for therapeutic and cosmetic treatments at area
resorts.

(d) 2.7
Explanation: The percentage of fresh water on earth surface is only 2.7%

(d) The areas where the warm and cold currents meets
Explanation: Best fishing areas are where warm and cold currents meet.

(b) Red sea, Mediterranean Sea, Caribbean sea
Explanation: In the given map seas are (iii)Red sea, (iv) Mediterranean Sea, and (v) Caribbean sea.
Can be understood by the help of map given:

(d) Temperate evergreen forest
Explanation: The temperate evergreen forests are located in the mid-latitudinal coastal region. They are
commonly found along the eastern margin of the continents.

(d) Tundra

Explanation: The animals have thick fur and thick skin to protect themselves from the cold climatic
conditions, seal, walruses, musk-oxen, Arctic owl, Polar bear and snow foxes are some of the animals found
in Tundra vegetation.

(d) Shisham

Explanation: Shisham is found in Tropical Deciduous Forests.
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(a) to conserve water
Explanation: Trees shed their leaves in the dry season to conserve water.

(a) Tropical deciduous forest
Explanation: Tropical deciduous are the monsoon forests found in the large part of India.

(d) Temperate grassland
Explanation: Usually, grass in Temperate grassland is short and nutritious.

(b) Child care centres

Explanation: The government has set up Anganwadis or child-care centres in several villages in the
country. The government has passed laws that make it mandatory for organisations that have more than
30 women employees to provide creche facilities. The provision of créches helps many women to take up
employment outside the home.

(a) De-valued

Explanation: When someone is not given due recognition for a task or job they have done, they can feel
de-valued. For example, if a boy has put in a lot of effort into making a special birthday gift for his friend
and this friend does not say anything about this, then the boy may feel de-valued.

(c) Creches

Explanation: The government has passed laws that make it mandatory for organisations that have more
than 30 women employees to provide creche facilities. The provision of creches helps many women to take
up employment outside the home. It also makes it possible for more girls to attend schools.

(c) All of these

Explanation: A lot of the work was done by women domestic helper. Many homes, particularly in towns
and cities, employes domestic workers. They do a lot of work sweeping and cleaning, washing clothes and
dishes, cooking, looking after young children or the elderly.

(b) All of these

Explanation: Girls had to continue looking after small children or do errands for adults till they were
teenagers. But, once they became teenagers they had much more freedom. After the age of fourteen or so,
girls also went on fishing trips, worked in the plantations, learnt how to weave baskets. Cooking was done
in special cooking-houses, where boys were supposed to do most of the work while girls helped with the
preparations.

(c) Constitution
Explanation: The Constitution provides that all citizens are equal before the law. There can be no
discrimination based on a citizen's caste, sex, religious belief or place of birth etc.

(c) Engine driver

Explanation: Laxmi is the first woman engine driver for Northern Railways. Engine drivers are men. But
27-year-old Laxmi Lakra, from a poor tribal family in Jharkhand, has begun to change things. Laxmi’s
parents are not literate but they struggled and overcame many hardships to make sure their children got
an education. Laxmi studied in a government school. Even in school, Laxmi helped with the housework
and did odd jobs. She studied hard and did well and then went on to get a diploma in electronics. She then
took the railway board exam and passed it on her first attempt.

(c) planting, weeding, harvesting and threshing

Explanation: 83.6 per cent of working women in India are engaged in agricultural work. Their work
includes planting, weeding, harvesting and threshing. Yet, when we think of a farmer we only think of a
man.

(a) she would bring bad luck to her husband and become a widow

Explanation: Rashsundari Devi (1800-1890), who was born in West Bengal, some 200 years ago. At the age
of 60, she wrote her autobiography in Bangla. Her book titled Amar Jiban is the first known autobiography
written by an Indian woman. Rashsundari Devi was a housewife from a rich landlord’s family. At that time,
it was believed that if a woman learnt to read and write, she would bring bad luck to her husband and
become a widow! Despite this, she taught herself how to read and write in secret, well after her marriage.

(d) Discrimination
Explanation: When we do not treat people equally or with respect we are indulging in discrimination. It
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happens when people or organisations act on their prejudices. Discrimination usually takes place when we
treat some one differently or make a distinction.

(d) Sexual harassment

Explanation: Sexual harassment refers to physical or verbal behaviour that is of a sexual nature and
against the wishes of a woman.Efforts made by the women’s movement led the Supreme Court to
formulate guidelines in 1997 to protect women against sexual harassment at the workplace and within
educational institutions.

(c) India, Pakistan

Explanation: Wagah is a village situated in Lahore District of Pakistan and serves as a goods transit
terminal and a railway station between Pakistan and India, and lies on the old Grand Trunk Road between
Lahore, Punjab, Pakistan and Amritsar India.Every year, on 14 August, several thousand people gather at
Wagah on the border of India and Pakistan and hold a cultural programme to demonstrate the solidarity
between the people of India and Pakistan.

(c) Stereotype

Explanation: When we believe that people belonging to particular groups based on religion, wealth,
language are bound to have certain fixed characteristics or can only do a certain type of work, we create a
stereotype. For example, in this chapter, we saw how boys and girls are made to take certain subjects not
because he or she has an aptitude for it, but because they are either boys or girls. Stereotypes prevent us
from looking at people as unique individuals.
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